
CS 4480 Demo Scoring Guide 
 
 

Presenter’s Name_________________________________________Date___________________ 
 
Compliance with Specifications 

5: Time (12 <= T <= 18 minutes) 
5: Gives an example 
5: Code runs 

 
Score: Total Possible (15)                                                                                                      ______ 
 
Overall Presentation 

Accuracy                                                                                            
0:  Serious and pervasive misunderstanding 
1:  Some troubling distortion of the issues 
2:  Accurate, with minor omission of relevant detail 
3:  Factually accurate and complete 

 
Development, Depth and Complexity                                          
0:  Unclear logic, or frequently inadequate development or depth 
1:  Develops one aspect of problem, but uneven level or avoids alternatives 
2:  Fully develops one aspect of an important issue and acknowledges complexity 
3:  Develops the issue with full respect to audience and complexity 

 
Focus and Structure                                                                                        
0:  Lacks recognizable structure 
1:  Frequent repetition, missing or irrelevant content, or serious structural problems 
2:  Clear organization, with occasional repetitions, omissions, and/or extraneous material 
3:  Good focus and structure, with no more than occasional lapses 

 
5: Physical Presentation (speaks clearly, eye contact, etc.) 

 
Score: Total Possible (1+9 +5 = 15)                                                                                      ______ 
 
Peer Responses to Presentations of Others 

0:  No response 
1:  Lacks serious content 
2:  Generally complete and thoughtful with no more than a few minor exceptions 
3:  Provides thoughtful and complete feedback 
 
Number of Responses _______ 
Sum of Feedback Scores________ 
Score: Total Possible ((sum of feedback/3*demos-1)*15)                                       ______ 
Maximum score is 15 
 

Total Possible 15 +15 + 15  = 45                          
                                       Total   _______ 


